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1 Intersectinglineshave ____ solution(s). 1
(a) ZERO ( b) ONLY ONE
( c) INFINITELY MANY ( d) NONE OF THE ABOVE
2 Coincidentlineshave __________ solution(s). 1
(a) ZERO ( b) ONLYONE
( c) INFINITELY MANY ( d) NONE OF THE ABOVE
3 Parallellineshave __________ solution(s). 1
(a) ZERO ( b) ONLY ONE
( c) INFINITELY MANY ( d) NONE OF THE ABOVE
4 A pair of linear equations which has no solution, is called an pair of 1
linear equations.
(@) CONSISTENT ( b) INCONSISTENT
5 A pair of linear equations in two variables, which has a solution, is called a 1
pair of linear equations.
(a) CONSISTENT ( b) INCONSISTENT
6 If the lines are represented by the equationaixz + b1y +¢1 = 0andasx + bay +c2 = 0, 2
then the lines are intersecting when .
b _ _b
(B =n=a B e=n7a
a b
()@l ( d) NONE OF THE ABOVE
7 If the lines are represented by the equationa; ¢ + byy + ¢; = 0and asx + by + o = 0, 2

then the lines are coinciding when

aa b _ ¢ a b c
(D= -z (m=hsa
()a#h ( d) NONE OF THE ABOVE
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If the lines are represented by the equationayjx + b1y +¢1 = 0andasz + bay + c2 =0,
then the lines are parallel when :

a b ¢ a __ b c
(B =n=5 (o) =75
(c) g_; ?.é 2_; ( d) NONE OF THE ABOVE

Graphically, find whether the following pair of equations has no solution, unique solution or
infinitely many solutions: 5z—8y + 1 = 0; 3z — %y + % =0

(@) NO SOLUTION ( b) UNIQUE SOLUTION
( c) INFINITELY MANY SOLUTIONS ( d) NONE OF THE ABOVE

On comparing the ratios g—;- %;- and 2- find out whether the lines representing a pair of linear
equations intersect at a point, are parallel or coincident: 5x—4y + 8 = 0; 72 + 6y-9 =0
(a) COINCIDENT ( b) INTERSECTING

(c) PARALLEL ( d) NONE OF THE ABOVE

On comparing the ratios Z—;— %21 and % find out whether the lines representing a pair of linear
equations intersect at a point, are parallel or coincident: 9z + 3y + 12 = 0; 18z + 6y +
24=0

( a) COINCIDENT (b) INTERSECTING

(c) PARALLEL ( d) NONE OF THE ABOVE

On comparing the ratios g—;— %; and % find out whether the lines representing a pair of linear
equations intersect at a point, are parallel or coincident: 6z—3y + 10 = 0;2z-y +9 =0
(@) COINCIDENT (b) INTERSECTING

(c) PARALLEL ( d) NONE OF THE ABOVE

On comparing the ratios z—;- %; and % find out whether the lines representing a pair of linear
equations are consistent or inconsistent: 3z + 2y = 5;2z-3y =7

(a) CONSISTENT (b) INCONSISTENT

On comparing the ratios &t %21 and £, find out whether the lines representing a pair of linear

equations are consistent or inconsistent: 2z—-3y = 8;4x—6y =9
(a) CONSISTENT ( b) INCONSISTENT
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On comparing the ratios 2+, 2 and 2, find out whether the lines representing a pair of linear
equations are consistent or inconsistent: 2z + 2y = 7;92-10y = 14

(@) CONSISTENT (b) INCONSISTENT

On comparing the ratios % %; and % find out whether the lines representing a pair of linear
equations are consistent or inconsistent: bz—3y = 11;-10z + 6y = —22
(@) CONSISTENT (b) INCONSISTENT

On comparing the ratios g—;- %;- and % find out whether the lines representing a pair of linear
equations are consistent or inconsistent: %m + 2y =8;2x + 3y =12

(a) CONSISTENT (b) INCONSISTENT

Find out whether the lines representing a pair of linear equations are consistent or
inconsistent: ¢ +y = 5, 2x + 2y = 10

(@) CONSISTENT (b) INCONSISTENT

Find out whether the lines representing a pair of linear equations are consistent or
inconsistent: z—y = 8, 3x—3y = 16

(a) CONSISTENT (b) INCONSISTENT

Find out whether the lines representing a pair of linear equations are consistent or
inconsistent: 2z + y—6 = 0,4x—2y—4 =0

(@) CONSISTENT (b) INCONSISTENT

Find out whether the lines representing a pair of linear equations are consistent or
inconsistent: 2z-2y-2 = 0,4x—4y-5 =0

(@) CONSISTENT (b) INCONSISTENT

Given the linear equation 2x + 3y - 8 = 0, write another linear equation in two variables such
that the geometrical representation of the pair so formed are intersecting lines.

(a) 3z +2y = 4 (b) 6z + 9y — 4
(c) 4z + 6y = 16 ( d) NONE OF THE ABOVE
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Given the linear equation 2x + 3y - 8 = 0, write another linear equation in two variables such
that the geometrical representation of the pair so formed are parallel lines.

(a)3z+2y=4 (b)2x + 3y =4
(c) 5z + 6y = 16 ( d) NONE OF THE ABOVE

Given the linear equation 2x + 3y - 8 = 0, write another linear equation in two variables such
that the geometrical representation of the pair so formed are coincident lines.

(a)3z+2y=4 (b)2z+3y =4
(c) 4z + 6y = 16 ( d) NONE OF THE ABOVE

A pair of linear equations is _ _ if it has a unique solution.
(@) Inconsistent ( b) Consistent

(c) Dependent (d) BOTH (B) and (C)

In case of infinitely many solutions, the pair of linear equationsissaidtobe __
(@) Inconsistent ( b) Consistent

(c) Dependent (d) BOTH (B) and (C)

Find whether the following pair of equations are consistentornot: 3x+y+ 4 =06x -2y + 4 =

0.
( a) Consistent (b) Inconsistent

Find whether the following pair of equations are consistent or not: x - 2y =6, 3x - 6y = 0.
( a) Consistent (b) Inconsistent

Find whether the following pair of equations are consistent or not: x +y = 3, 3x + 3y = 9.
( a) Consistent (b) Inconsistent

Find the area of the figure formed by these lines x = -2 and y = 3, the x-axis and the y-axis.
(a) 3squnits (b) 6squnits
(c) 12 squnits (d) 24 squnits

Solve the system of equations 3x+2y=4 and 2x-3y=7 graphically .
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(a) x=-2;y=1 (b)x=2;y=-1
(c)x=2;y=1 (d)x=-2;y=-1

Solve the system of equations 2x+3y=8 and x-2y+3=0 graphically .
(a) x=-1;y=2 (b)x=1;y=-2
(c)x=2;y=1 (d)x=1;y=2

Are the following pair of linear equations consistent? 2z — y = 3 and o — 3y = ¢.
(a) Yes (b)No

The line represented by x = 7 is parallel to the x-axis. Is the statement is true or false?
(a) TRUE (b) FALSE

Solve the following system of equations:

X+y=3;

2x+5y =12

(a)x=-1,y=-2 (byx=1,y=2
(c)x=1,y=-2 (d) No solution

Does the following system of linear equations has a unique solution ?
2x-3y=6,x+y=1

(a) No (b) Yes
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